THE GAUHATI HIGH COURT AT GUWAHATI
(The High Court of Assam, Nagaiand, Mizoram and Arunachal Pradesh)
Written Examination (OMR based Objective Type Question with Multipie Choices) for direct
recruitment of TELEPHONE OPERATOR in the Principal Seat of the Gauhati High Court, 2023

Total Marks:120 | Duration: 2 Hours
Date: 22.07.2023(Saturday) Time: 10 A.M. to 12 Noon

Each Question carries 1 (one) mark. There is no negative marking.

: GENERAL ENGLISH :: 40 MARKS

Choose the correct Antonym: (1x10) = 10 Marks

1. CONFIDENT
(A) Reserved (B) Secure (C) Diffident (D) Certain
2. DESTINY |
(A) Fortune (B) Fate (C) Vulnerability (D) Self Dependence
3. ACQUIT
(A) Pardon (B) Indict (C) Confirm (D) Excuse
4. AGONY
(A) Ecstasy (B) Fear - () Woe (D) Distress
5. REPEL ‘
(A) Attend (B) Continue  (C) Attract (D) Concentrate
6. TERSE _
(A) Expressive (B) Brief (C) Concise (D) Detailed
7. ASTUTE |
(A) Wicked (B) Impolite (C) Cowardly (D) Foolish
8. LIABILITY
(A) Assets | (B) Fault (C) Debt (D) Treasure
9. SPURIOUS
(A) Simple (B) Genuine  (C) Systematic (D) False

10. CHURLISH

(A) Polite (B) Surly (C) Rude (D) Accommodating
Choose the correct Synonyms: (1 x10) =10 Marks |
11. IMPASSE | |
(A) Growth (B) Confrontation (C) Stalemate (D) Impossibility
12. TYRANNY
(A) Madness (B) Cruelty (C) Misrule (D) Power
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13. PRECARIOUS

(A) Cautious  (B) Critical (C) Brittle
14. TEDIOUS |

(A) Lengthy (B) Tiresome (C) Painful
15. GRAND

(A) Ignoble (B) Splendid (C) Humble
16. UNTIE

(A) Undo (B) Unhinge (C) Interlace
i7. SYCOPHANT

(A) Flatterer (B) Admirer (C) Suppliant
18. IRK

(A) Urge (B) Annoy (C) Bore
19. TIMID

(A) Veteran (B) Gallant - (C) Cowardly
20. AFFABLE _

(A)Heipful (B) Neutral (C) Friendly

hoose the correct meaning of the Idiom/proverb:

21.To fiy off the handle
(A) To Dislocate
(B) To lose one’s temper
(C) To take off
(D) To be indifferent

22. To take with a grain of salt
(A) To take whole heartedly
(B) To take seriously
(C) To take with some reservation
(D) To take with total disbelief

23. The pros and cons
(A) Good and evil
(B) Former and latter

(C) Foul and fair
(D) For and against a thing

24. Something up one’s sleceve
(A) A secret plan
(B) A profitable plan
(C) Something important
(D) A grand idea
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(D) Perilous

(D) Troublesome

(D) Plebeian

(D) Obstruct

(D) Follower

(D) Insult

(D) Plucky

(D) Surly

(1 x5)= 05 Marks



25. To Pour oil in troubled water
(A) To instigate
(B) To calm a quarrel with soothing words
(C)  To foment trouble
(D) To add to the trouble

Complete the Sentence by choosing the correct word:

26. The Sun is shining brightly, please .........ecoouveeen. the lights.
(A) Put out (B) Take off (C) Put on

27. 1 devote much of my time.............. writing.

(A) On (B) At (C) In
28. However honest he ............... , I do not trust him.

(A) Might be (B) May be (C) Couid be
29. That rule is applicable ........... everyone.

(A) To (B)On (C) With
30. His name has become a synonym ........cceuuessee evil.

(A) To (B) With (C) Of

Choose the correct spelling:

31i. A. Trenquility B. Tranquility C. Tranquillity
32. A. Occurancé B. Occurence C. Occurrance
33. A. Argument B. Arguement C. Argumant
34. A. Exaggerate B. Exeggerate C. Exagerate
35. A. Entrapreneur B. Entrepreneur C. Entreprenuer

Substitute the following phrases with one word:

36. Undue favour shown to one’s own relatives

(A) Anarchist (B) Iconoclast (C) Nepotism
37. One who possesses many talents

(A) Exc'eptional (B) Nubile (C) Versatile

38. A person who is indifferent to pleasure and pain.
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(1 x 5)= 05 Marks

(D) Put off

(D) To

(D) is

(D)For

(D) For
{1 x5) =05 Marks

D. Trenquillity
D. Occurrence
D. Arguemant
D. Exadgerate

D. Entrepraneur -

(1 x5)05 Marks

(D) Stoic

(D) Gifted



41.

42.

43.

44.

45.

46.

47.

(A) Patience (B) Reticent (C) Docility (D) Stoic
39. A person who believes in the total abolition of war

(A) Pacifist (B) Credulous (C) Optimist (D)Fatalist
40. A man of odd habits.

(A) Introvert (B) Moody (C) Eccentric (D) Cynical

GENERAL APTITUDE & REASONING :: 20 MARKS

One morning after sunrise, Rosy and Tina were talking to each other face to face at Tilak Square. If
Tina’s shadow was exactly to the right of Rosy, which direction Tina was facing?

(A) South (B) North (C) East (D) Data Inadequate

In a class of 35 students, Kunal is placed seventh from the bottom whereas Sonam is placed ninth from
the top. Piyush is placed exactly in between the two. What is Kunal’s position from Piyush?

(A) 07 (B) 08 (C) 09 (D) 10

A Car travels from point ‘A’ to point ‘B’ at a speed of 40Km/h and returns back at a speed of 60 Km/h.

Its average speed will be? |
(A) 40 Km/h (B) 48 Km/h (C) 50 Km/h (D) 60 Km/h

*Anil’ is father of ‘Chinki’ and ‘Dinesh’ is son of ‘Beauty’. ‘Gagan’ is brother of ‘Anil’. If ‘Chinky’ is the
sister of ‘Dinesh’, how is ‘Beauty’ related to ‘Gagan”

(A) Husband (B) Daughter (C) Sister in Law (D) Brother in Law

S and T are brothers. U and V are sisters. S's son is V's brother. How is T related to U?
(A) Father (B) Uncle (C) Brother (D) Grandfather

How many minutes are there in 4 hour 30 minutes?
(A) 250 minutes (B) 258 minutes (C) 210 minutes (D) 245 minutes

In a group of six women, there are four dancers, four vocal musicians, one actress and three violinists.
Geeta and Veena are among the violinists while Jaya and Seema do not know how to play on the
violin. Seema and Tanya are among the dancers. Jaya, Veena, Seema and Tanya are all vocal
musicians and two of them are violinists, If Preeti is an actress, who among the following is both a
dancer and an violinist? |

(A) Jaya (B) Seema (C) Tanya (D) Preeti
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48. AZB:CYD::EXF:?
(A) GWH (B) FGV (C) TMR (D) QSV

49, FORGE : FPTJI :: CULPRIT : ?

(A) CVMQSTU (B) CXOSULW (C) CVNSVNZ (D) CSINPGR
50. 16: 22 :: 36: 2
(A) 24 (B) 46 (C) 44 (D) 26

51. STATEMENTS: Some books are trees. All trees are roads. All roads are wheeis.
CONCLUSION: I) Some wheels are books,
IT) Some roads are books,

IIT) Some Wheels are trees.
(A) I&II follow (B) II & III follow (C) I & III follow (D) All follow

52. STATEMENTS: All Rats are Cats. No Cow is Cat. All Dogs are Cows.
CONCLUSION: I) No Dog is Rat,
II) No Dog is Cat,
IIT) No Cow is Cat.

(A) None Follows (B) All foliow (C) I & II follow (D) IT & III follow

53. If 05 men can do a piece' of work in 6 days and 10 women can do it in 5 days, in how many days can
03 men and 05 women do the same piece of work?

(A) 5 days (B) 6 days (C) 3 days (D) 4 days.

54. A shepherd had 17 sheep. All but nine died. How many was he left with?
(A) 17 (B) 9 (C) Nil (D) 8

CHOOSE THE CORRECT ALTERNATIVE TO COMPLETE THE SERIES ::

55. 6, 11, 21, 26, 36, 2. 51
(A) 41 (B) 39 (C) 47 (D) 48

56. 1. 4. 9. 16. 25 2 49 o
(A) 27 (B) 36 (C) 64 (D) 81

57.24. 29, 39, 2. 74
(A) 49 (B) 44 (C) 54 (D) 50

FIND THE ODD ONE OUT::

58. (A) Mustard  (B) Bajra (C) Rice (D) Wheat
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59. (A) Waist: Belt (B) Neck: Tie (C) Wrist: Band (D) Shoe: Laces
60. (A) Iron (B) Steel (C) Gold (D) Tin
GENERAL KNOWLEDGE :: 40 MARKS

61. Name the First Assamese Chief Justice of Gauhati High Court?
(A) Sir R.F. lodge,
(B) Justice S.K Dutta,
(C) Justice Holiram Deka,
(D) Justice M.C.Pathak.
62. Who is the Cabinet Minister for Law and Justice Department, Government of India?
(A) Shri Kiren Rijiju ' '
(B) Shri Arjun Ram Meghwal
(C) Shri Raj Kumar Singh
(D) Shri Mansukh Mandaviya

63. On which date the Kohima Bench of Gauhati High Court was inaugurated?
(A) 10" February, 1990,
(B) 05" July, 1990,
(C) 12" August, 2000,
(D) 15" March, 1995. i
64. The Itanagar Permant Bench of Gauhati High Court is located at:-
(A) Itanagar  (B) Pasighat  (C) Nirjuli (D) Naharlagun

65. Who inaugurated the Aizawl! Bench of Gauhati High Court?
(A) Justice S.B. Mukherjee
(B) Justice Dr. A.S. Anand
(C) Justice Ranjan Gogoi
(D) Justice Harilal Kania

66. How many Judicial Districts are there in Assam?
(A) 35 (B) 34 (C) 33 (D) 32

67. Who administers Oath to the Chief Justice of a High Court?
(A) President of India
(B) Chief Minister
(C) Governor
(D) None of the above

68. Name the Hon’ble Chief Justice of India who came to preside over the inauguration of the High Court
of Assam in 1948:-

(A) Justice D.Y. Chandrachud

(B) Justice Sabyasachi Mukhariji
(C) Justice Harilal Jekisundas Kania
(D) Justice Ranjan Gogoi
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69.

70.

71.

72.

73.

74.

75.

76.

Who is the present Chief Justice of Gauhati High Court?
(A) Justice R.M.Chhaya
(B) Justice Sandeep Mehta
(C) lJustice Suahanshu Dhulia
(D) Justice Ajai Lamba

Recently Shri Narendra Modi, Prime Minister of India was conferred by Egypt with the highest civilian

award namely................ ?
(A) Order of Zayed
(B) Ebakl Award
(C) Order of the Nile

(D) Order of the Distinguished Rule of Nishan Tzzuddin

The term ‘Secular’ & *Socialist’ were added to the Preamble of Indian Constitution by which
amendment? | |
(A) 39" Amendment
(B) 42" Amendment
(C) 44" Amendment
(D) 41%° Amendment

The term " Fraternity” in the Preamble of the Indian Constitution means a sense of .....................

(A)
(B)
(C)
(D)

The Slogan "Arise, Awake and Stop not till the goal is reach

(A)
(B)
(C)
(D)

Brotherhood
Friendliness

Love and affection
Statehood

Netaji Subhash Chandra Bose
Swamy Vivekananda

A.P.J. Abdul Kalam

Bhagat Singh

Who was not a member of the Constituent Assembly?

(A)
(B)
(C)
(D)

Dr. Rajendra Prasad
Sardar Patel

G.V. Mavalankar
Mahatma Gandhi

The President of India is elected by?
Members of Parliament and Members of State Legislative Assemblies

(A)
(B)
(C)
(D)

The First Railway Line of India was started in the year 1853 between

(A)
(B)
(C)
(D)

Members of Lok Sabha only
Members of Rajya Sabha only

Members of both the houses of Parliament only

Howrah and Delhi
Bombay and Howrah

Bombay and Madras
Bombay and Thane
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77.

78.

79.

80.

81.

82.

83.

84,

85.

86.

87.

88.

89.

90.

The Rig veda is the collection of:-
(A) Hymns (B) Stories (C) Words (D) War
‘Satyameyv Jayate’ which is engraved on the Indian Emblem has been taken from:-
(A) Rigveda
(B) Bhagavad Gita
(C) Mundakopanishad

(D) Matsya Purana

Which among the following is the India’s Oldest dynasty?

(A) Gupta (B) Maurya (C) Vardhana (D) Chola
When did the rule of Delhi Sultanate begun in India?

(A) 1106 CE (B) 1206 CE (C) 1306 CE (D) 1406 CE
Famous medieval Saint Sankardev belongs to which cult:-

(A} Shaiva (B) Advaita (C) Dvaita-Advaita (D) Vaishnava

Dayananda Saraswati founded:-

(A) Brahmo Samaj (B) Arya Samaj (C) Prarthana Samaj (D) Bahujan Samaj
The Rowiatt Act was passed in the year?

(A) 1917 (B) 1921 (C) 1919 (D) 1923
Solar energy is due to........7

(A) Nuclear Fusion (B) Ionization (C) Nuclear Fission (D) Oxidation
How many degrees does the earth rotate about its own axis in one hour?

(A) 10 (B) 15 (C) 20 (D) 24

Which one of the following continent is considered as “Cradle of Mankind™?
(A) Africa (B) Asias (C) Europe (D) South America

Through how many states of India the Tropic of Cancer pass?
(A) 06 (B) 07 (C) 08 (D) 10

In terms of area the biggest state of India is.......... ?
(A) Maharastra  (B) Tamil Nadu (C) Madhya Pradesh (D) Rajasthan
Which of the following indicators is not used to calculate Human Development Index (HDI)?
(A) Life Expectancy
(B) Social Inequality
(C) Education
(D) Per Capita Income

The SI unit for electrical resistivity is............ ?

(A) Ampere/meter (B) Volt/Meter (C) Tesla (D) Ohm Meter
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91. When a running car stops suddenly, the passenger tends to lean forward because of.......... ?
(A) Centrifugal Force
(B) Inertia of rest
(C) Inertia of motion
(D) Gravitational force

92. The force acting on an object perpendicular to the surface is called........ ?
(A) Thrust (B) Pressure  (C) friction (D) Work

93. TV remote control uses......?
(A) Radio Frequency
(B) Infrared Frequency
(C) Visible Frequency
(D) Ultraviolet Frequency

94. Light waves are......... ?
(A) Electric Waves
(B) Magnetic Waves
(C) Electromagnetic Waves
(D) No option is correct

95. Who discovered ‘Penicillin’?
(A) Louis Pasteur
(B) Robert Koch
(C) Ernst Chain
(D) Alexander Fleming

96. Name the operation carried out by Indian Government to evacuate the stranded Indian people in the
conflict-ridden Sudan?
(A) Operation Ganga
(B) Operation Kaveri
(C) Operation Meghdoot
(D) Operation Devi Shakti

97. Which are the countries that took part in the 26" edition of “Malabar Exercise”?
(A) India and Russia -
(B) India, Bangladesh, Sri Lanka & Thasland
(C) India, USA, Japan & Australia
(D) India, Vietham & Indonesia

98. Who has been recently appointed as Research and Analysis Wing (R&AW) Chief?
(A) Shri Rajinder Khanna
(B) Sanjeev Tripathi
(C) Shri Samant Goel
(D) Shri Ravi Sinha

99. Who won the Noble Prize for Literature in the year 2022?
(A) Annie Ernaux

(B) Svante Paabo
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(C) Douglas W. Diamond
(D) Ales Bialiatski

100.
(A) Casper Ruud
(B) Novak Djokovic
(C) Rafael Nadal
(D) Stefanos Tsitsipas.
Rre == e TRAISS-
101. SR
(A) (B) &5
102. 23
(A) =R (B) 8%
103. ¥
(A) IR Q@R (B) &S
104. yAm
(A) & (B)  cnsat
105. <%
(A) *1Y - (B) W@
106. I3 TR
(A) OfS ST (B) = (i
107. =14 oK 326
(A) (TTad ] (B) &It e

108. IR oI RO T

(A) oS (B) (AR (T

Who won the Men’s Singles in the 2023 French Open?

Assamese ::(20 Marks)

(C)  12¥

(C)

(C) =fawpst F4t

(C) wAR-S

(C) €&+ (qiEd

(C) wed qe3}
(C) w1 o=
(C) SIS A
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(1 x 5= 5 Marks)

(D) 1%

(D) (enq

(D) ¥ =1

(D) TP

(D) =itwe

(1 x 5= 5 Marks)

(D) ST

(D) ¢+Aq =

(D) 5% Al



109. 35

(A) orsq =1

110. it o iR

(A) 3 «f{ T4
A% Shet -
111, I
N _
112; . T
W e
113. e
(A) T + TH]
114. wiew
(A) W+ ™M
115, vt
(A) fwt + =g
e o1 % G
116. °N¥
(A) Tatt
117, %

(A) =%

(B) R#We ¢t Wiz

(B) (SIS

(B) TG + &I

(B) %t + fa=

(B) T3 + wIr{q

(B) 9wt + =

(B) =i+

(B) I+

(C) &i=K ©fF1 Wi’ H@9i

(C) 97 + |

(C) ¥ + &R

(C) W + AqrHq

(C) 1 + q9q

(C) g +oem

(C) Tow

(C) &bl
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(D) wtwifers @i

(D) 5otz T+t

(1 x 5= 5 Marks)

(D) TF + &4

(D) + &&=

(D) W + 7

(D) v + 99|

(D) Ryt + ey

(1 x 5= 5 Marks)



(B) g

<&l

(C) %"
© o
© g

(D) 38

(D) 153

(D) faret




